Jlugpepenuyianvhi pieHanns

3aedanna 25. Po3w’s3atu nudepeHItiabae piBHAHHS.

25.1. xy'=1+y?.

253, y =2 YEY
4+ y?

:

25.5. (y—x"y)y'=4x-5xy*.
25.7. y'tgx=y.

25.9. e (2y-1)y'=y.
25.11. (1+e*)yy'=e".
25.13. (" +8)y' = ye’

25.15. y'ctgx = y*.

25.17. (2x—xy*)dx = (y+yx* )dy .

25.19. xy'+y=y>.

25.21. xy'—2y =yx®.
25.23. (3+e")yy' =e".
25.25. y'sinx=ylny.
25.27. yy' =¢* (4+ y2) .

25.29. y'ctgy = x°.

25.2. yy'V1+x* = xy/1+y? .

25.4. x+xy + y'(y+xy)=0,.

256, y' =Y
X% +1

25.8. (e” +5)y’ = ye™".

25.10. (x+4)y'=y*-1.
25.12. JA— X2y +xy? +x=0.
25.14. . 2x+2xy* ++/2—x?y' =0
25.16. y'y\1-x* = \[5+y? .
25.18. yIny+xy'=0.

25.20. V1-x2y'+ xy? +x=0.
25.22. xy'=y(1+Iny).

25.24. \[3+y? +\1-xyy' =0.
25.26. (1+ex)yy':ex.

25.28. NA—x y' = 3x+ xy?.

25.30. y'=2\/yInx.

3asdanns 26. 3HaliTH 3aranbHUR PO3B’ 30K TU(EPEHIIaIBHOTO PIBHSIHHS.

2

261, y'=Y +a¥i2,
X X
26.3. y' =Y

265. y'=Y_+5) 8.
X

26.7. xy’cosl = ycosl—x.
X X

2

26.9. y':%+8¥+4.

26.11. xy'+2xy = y.

2

26.13. y =L +3¥,5.
X

XZ

26.2. y' =X+sinl.
X X

2
26.4. y'=
X

> |<

26.6. y' =Y +tg Y .
X X

26.8. y' =;;—_2§.

26.10. xy' = y(l+ In X] :
X

26.12. xy' =+/2X* +y* +y.

y

26.14. xy'—y=xtg=.
X



y

26.15. xy'=xe X +y.

2
2617. y'=L 47109,
X X

26.19. xy' =X -y’ +v.

2
2621, y'=2¥_+5Y 11,
X X

26.23. xy' =3yx*—y* +y.

26.25. xy' =y +xsin’ 2y
X

2

26.27. y' =2 +3¥ 11,
X

XZ

26.29. y' =3c0s’ Y+ ¥ |
X X

3agdanna 27. 3HaliTH PO3B’I30K AUPEPECHIIATBLHOTO PIBHSIHHS, 10 3a/I0BOJILHAE 3a]aHy TI0YaTKOBY YMOBY.

271, y-L-x
X
27.2. y'—yctgx =2xsinx,
, 1.
27.3. y +ycosx=§sm 2X,
27.4. y'+ytgx =cos’ X,

275, y - — x4 0x,

X+2

27.6. y’—)%rly:ex(x+1),

27.7. y'—X =Xsinx,
X

2Xx—-5

X2

27.8. y'— y=5,

27.9. y'+l =x%,
2X

2
27.10. y'+ 2X2 y 2x
1+x

27.11. y' Yo sinx,
X

27.12. y’+X :X—JrleX ,
X

2713, y—Y o pINX,
X X

1+x2’

26.16.

26.18. y

26.20.

26.22.

26.24.

26.26.

26.28.

26.30.

xy' =y +2xsin’ 3,
X

2 2
X AXy+Y
X2

y

xy'—y=yln=.
X

xy’:y+2xtg3—y.
X

xy' = y+xcoszz.
X

2
y =L 19Y 416,
X X

Xy = 4X° +y  +y.

2
y’=y—2+5z+4.
X X



27.14.

27.15.

27.16.

27.17.

27.18. y

27.19.

27.20.

27.21. y'+

27.22.

27.23.

27.24.

27.25.

27.26.

27.27.

27.28.

27.29.

27.30.

y'+2xy = —2x%,

' Xy

2@—#)_5’

Y +xy=-x°,

2
r__“ — X 1
y x+1y ® (X+ )

' X2 o
y'+2xy =e7" sinx,

2y 3
———=(x+1),
y X+1 ( )
y'—ycosx =-sin2x,

y'—4xy = —4x°,
, In x
y-L--2%,
X X
X (1+x°
y/_3x2y: ( 3 )



